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Restrictions: Set Denominator ≠ 0 𝑎𝑛𝑑 𝑠𝑜𝑙𝑣𝑒

5

𝑥ଶ − 4
⎯⎯⎯⎯⎯⎯

2

𝑥 + 3
⎯⎯⎯⎯⎯

1

𝑥ଶ + 1
⎯⎯⎯⎯⎯⎯

Can't Divide by Zero

3

𝑥ଶ + 5𝑥 + 6
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯      𝑥ଶ + 5𝑥 + 6 ≠ 0

(𝑥 + 3)(𝑥 + 2) ≠ 0

𝑥 + 3 ≠ 0

        𝑥 ≠ −3

𝑥 + 2 ≠ 0

        𝑥 ≠ −2

2

𝑥ଶ − 2𝑥
⎯⎯⎯⎯⎯⎯⎯     𝑥ଶ−2𝑥 ≠ 0

𝑥(𝑥 − 2) ≠ 0

𝑥 ≠ 0

𝑥 − 2 ≠ 0

        𝑥 ≠ 2

3

2𝑥ଶ + 𝑥 − 1
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯         2𝑥ଶ + 𝑥 − 1 ≠ 0

(2𝑥 − 1)(𝑥 + 1) ≠ 0

2𝑥 − 1 ≠ 0

          𝑥 ≠
1

2
⎯⎯

𝑥 + 1 ≠ 0

        𝑥 ≠ −1

                  𝑥ଶ−4 ≠ 0
(𝑥 + 2)(𝑥 − 2) ≠ 0

𝑥 + 2 ≠ 0

        𝑥 ≠ −2

𝑥 − 2 ≠ 0

        𝑥 ≠ 2

𝑥 + 3 ≠ 0

        𝑥 ≠ −3

𝑥 ≠ 0

𝑥ଶ + 1 ≠ 0
         𝑥ଶ≠ −1

    ඥ𝑥ଶ
⎯⎯⎯ 

≠ √−1
⎯⎯⎯ 

Can' t even root a negative

No Restrictions

𝑥

2
⎯⎯ No Restrictions
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